[ number of missing inner layers |

—— )1
u——p
| m— D
meanhl——%
———

<hits>vs n

Ratio

1 —{ Entries 16133
E : Mean 0.118
r N Std Dev 0.3253
_1_ __________ . :. . ' ' I
10°E " Entries 16349
F Mean 0.1181
N Std Dev 0.3251
2 S S A S Po.iti..i....
10 E Entries 16212
E Mean 0.118
I Std Dev 0.3253
10’35— ---------------- N T
E Entries 16474
r Mean 0.1173
—4 Std Dev 0.3246
1077 rwerrrrrrr e T 1
F Entries 16525
L . Mean 0.1194
10—5 - A......]sStdDev 0.3269
105 AT P T T AT O P P T T
E —
0.95F

905 1 15

2 25 3

35 4 45 5

[ number of missing outer layers |

1 " - —{ Entries 16133
E : : v | Mean 1.316
: : 1 [std Dev 2.166
_ : : : : T
107 porerne s t* {Entries 16349
o - : : Mean 1.318
o . . . |Std Dev 2.168
] I -
10°E : : . [Entries 16212
F : : ¢ | Mean 1.31
I N 0 N Std Dev 2.157
10 P L R pre ETEEEEEE I
E : : : Entrie 16474
C B N Mean 1.316
_al : : Std Dev 2.165
107 P A i R |
E : : Entries 16525
L N : Mean 1.312
1075+ T . 1. L std Dev 2.159
108 .! ] II

Pl

10 15

20 25

0.950 5
Qevt
| 1ItREFIT_1000evt

track n

10%E

10

: [Entries
2ol Mean

‘:_Lk?mm.‘:w

Entries
Mean

Entries
Mean
Std Dev

Std Dev

ean
td Dev

Entries
Mean
Std Dev

r

c

= 3
....,....E...l

| .

25 30 35 40

track hits
[ N of reco track vs pT |
Entries 16500
o Mean 2.616
10 E Std Dev 6.726
E : I
L Entries 16725
-2 Mean 2.614
10 E Std Dev 6.72
- H I
[ Entries 16585
3 Mean 2.607
10 E
10
F Entries 16903
5 B Mean 2.59
10°F Std Dev 6.623
0103 s
= B .
< [ :
@ r :
I—dr-* 4§
T 4+t T + +
T === l==== Eo
0.95 .




	Contents
	Page 1


